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1. Evaluate the following
definite integrals as limit of sums.

Watch Video Solution

∫abxdx

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yRA3unJVoVJG


2. Find  as the limit of a sum .

Watch Video Solution

∫
1

0
e

− 1
dx

3. Find  as the limit of a sum.

Watch Video Solution

∫
2

0
(x2 + 1)dx

4. 

Watch Video Solution

F i n d∫
9

4
√xdx

5. Evaluate ∫
1

− 1

x3(1 − x2)dx

https://dl.doubtnut.com/l/_NTBWsdHEltnI
https://dl.doubtnut.com/l/_OJxUz7jhpBAo
https://dl.doubtnut.com/l/_u3IsgfiSAqfJ
https://dl.doubtnut.com/l/_DDWskAKd3ehD


Watch Video Solution

6. Evaluate 

Watch Video Solution

∫
a

0

dx

√a2 − x2

7. Evaluate

Watch Video Solution

∫
3

2
e

−x
dx

8. Evaluate 

Watch Video Solution

∫
4

1

e2xdx

https://dl.doubtnut.com/l/_DDWskAKd3ehD
https://dl.doubtnut.com/l/_gekGVJwf1mkp
https://dl.doubtnut.com/l/_MdS7cN3PYKcT
https://dl.doubtnut.com/l/_JuTkvtv96YA0
https://dl.doubtnut.com/l/_7yNwbBq5yxLw


9. 

Watch Video Solution

∫
0

sinxdx

π

2

10. 

Watch Video Solution

∫
0

sin2
x cos2

xdx

π

2

11. Evaluate 

Watch Video Solution

∫
0

secx tanxdx

π

4

12. 

Watch Video Solution

∫
0

sec2
xdx

π

4

https://dl.doubtnut.com/l/_7yNwbBq5yxLw
https://dl.doubtnut.com/l/_nhHiwPiPxieK
https://dl.doubtnut.com/l/_XJF98UoioEdM
https://dl.doubtnut.com/l/_aZItK7wVBvF6


13. 

Watch Video Solution

∫
0

π

2 dx

1 + cos x

14. Evaluate 

Watch Video Solution

∫
0

√1 + sinxdx

π

2

15. Evaluate : 

Watch Video Solution

∫
1

0
dx

x

√1 + x2

https://dl.doubtnut.com/l/_aZItK7wVBvF6
https://dl.doubtnut.com/l/_t1SaorRWqUGY
https://dl.doubtnut.com/l/_mGm4ZFlqEIA5
https://dl.doubtnut.com/l/_wqwVbBqpNDmY


16. Evaluate 

Watch Video Solution

∫
2

1
(1 − )ex+

dx
1

x2

1
x

17. Evaluate 

Watch Video Solution

∫
1

0
(6x + 1)√3x2 + xdx

18. Evaluate 

Watch Video Solution

∫
1

0
dx

tan− 1 x

(1 + x2)

19. Evaluate ∫
0

dx

π

4 sec2 x

(1 + tanx)
3

https://dl.doubtnut.com/l/_JPnKPbJ1dszT
https://dl.doubtnut.com/l/_UJOvXTgi7Ebm
https://dl.doubtnut.com/l/_k5XDroXigtmK
https://dl.doubtnut.com/l/_a3OLBUFXGKQF


Watch Video Solution

20. 

Watch Video Solution

∫
0

cos3
x sinxdx

π

2

21. Evaluate 

Watch Video Solution

∫
0

sin7
xdx

π

2

22. Evaluate 

Watch Video Solution

∫
√2

0

√2 − x
2
dx

https://dl.doubtnut.com/l/_a3OLBUFXGKQF
https://dl.doubtnut.com/l/_eRn63g0rQi95
https://dl.doubtnut.com/l/_hjtq3aR1zyVO
https://dl.doubtnut.com/l/_rs1XyOCEFutA
https://dl.doubtnut.com/l/_CU3DmnzPrbBc


23. Evaluate 

Watch Video Solution

∫
0

π

4 dx

cos2 x + 4 sin2
x

24. Evaluate 

Watch Video Solution

∫
1

0
xe

x
2

dx = (e − 1)
1

2

25. Find the value of 

Watch Video Solution

∫ dx

π

3

π

4

sin 2x

1 − cos 2x

26. Evaluate: ∫
1

0

x exdx

https://dl.doubtnut.com/l/_CU3DmnzPrbBc
https://dl.doubtnut.com/l/_4aMJi3bKhZ3V
https://dl.doubtnut.com/l/_ORJQADgHh602
https://dl.doubtnut.com/l/_hUCp9SONTALH


Watch Video Solution

27. Evaluate the following : 

Watch Video Solution

∫
1

0

x tan− 1
xdx

28. Evaluate 

Watch Video Solution

∫
0

x cos xdx

π

2

29. Evaluate 

Watch Video Solution

∫
π

0
x

2 sinxdx

https://dl.doubtnut.com/l/_hUCp9SONTALH
https://dl.doubtnut.com/l/_jHQDJhfAT0G1
https://dl.doubtnut.com/l/_VHnho3KTBGEM
https://dl.doubtnut.com/l/_Po6numE7jUl6


30.  =

Watch Video Solution

∫
0

sin2
xdx

π

2

31. Use the idea of odd and even function to evaluate

Watch Video Solution

∫
1

− 1
x(1 − x

2)dx

32. Using the properties of definite integral,show that

Watch Video Solution

∫
0

log tanxdx = 0

π

2

https://dl.doubtnut.com/l/_FOCAjml1v6KW
https://dl.doubtnut.com/l/_NSm1EpNdiA2p
https://dl.doubtnut.com/l/_CxH8XkYbrbYh
https://dl.doubtnut.com/l/_1RHocW3Iurs4


33. Evaluate: 

Watch Video Solution

∫
π

0

dx
x sinx

1 + cos2 x

34.  is

Watch Video Solution

∫
π

0

dx
x tanx

secx + cos x

35. The value of 

Watch Video Solution

∫
0

dx

π

2 √cos x

√sinx + √cos x

36. 

Watch Video Solution

∫

π

6

π

3

dx

1 + √tanx

https://dl.doubtnut.com/l/_1RHocW3Iurs4
https://dl.doubtnut.com/l/_uNrjyn0ijqtT
https://dl.doubtnut.com/l/_84duiL04y1Tw
https://dl.doubtnut.com/l/_Hkw2hU0XQOak


Watch Video Solution

37. Evaluate 

Watch Video Solution

∫
0

dx

π

2 sinx

sinx + cos x

38. Evaluate: 

Watch Video Solution

∫
π

0
dx

x

a2 cos2 x + b2 sin2
x

39. Evaluate

Watch Video Solution

lim
n→ ∞

[ + + + … + ]
1

n + 1

1

n + 2

1

n + 3

1

2n

https://dl.doubtnut.com/l/_Hkw2hU0XQOak
https://dl.doubtnut.com/l/_gq47yjQ3ermH
https://dl.doubtnut.com/l/_FGG2nVYXllcQ
https://dl.doubtnut.com/l/_1jEow3Yr7Oso
https://dl.doubtnut.com/l/_halfyhjV0x1r


40. 

Watch Video Solution

lim
n→ ∞

[tan( ) + tan( ) + ...tan( )]
1

n

π

4n

2π

4n
nπ

4n

41. Evaluate

Watch Video Solution

lim
n→ ∞

[ + + + … + ]
1

n + k

1

n + 2k

1

n + 3k

1

n + nk

42. Evaluate

Watch Video Solution

lim
n→ ∞

n[ + + + … + ]
1

n2 + 12

1

n2 + 22

1

n2 + 32

1

2n2

https://dl.doubtnut.com/l/_halfyhjV0x1r
https://dl.doubtnut.com/l/_7G4gu3fwMe5g
https://dl.doubtnut.com/l/_v0FghoDL04g5


43. 

Watch Video Solution

lim
n→ ∞

[ ]
√n + 1 + √n + 2 + .... + √2n

n√(n)

44. Evaluate

Watch Video Solution

lim
n→ ∞

[ + + + … + ]
1

n + 1

1

n + 2

1

n + 3

1

2n

45. Evaluate 

Watch Video Solution

lim
n→ ∞

[ ]
16 + 26 + 36…. . + n6

n7

https://dl.doubtnut.com/l/_gfbkM2D6RVnq
https://dl.doubtnut.com/l/_G7v4xwHEgs4d
https://dl.doubtnut.com/l/_v52dLEcE4FOe


46. Choose the correct Answer of the Following Questions :

 is equal to

A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

∫ √1 − sin 2xdx

π

2

π

4

√2 + 1

2(√2 − 1)

1 − √2

47. Choose the correct Answer of the Following Questions :

 is equal to∫
1

0

dx
1

2x − 3

https://dl.doubtnut.com/l/_x2rli17vdkLe
https://dl.doubtnut.com/l/_SNDc6OwFMZKy


A. 1/2 log3

B. log3

C. -1/2 log 3

D. 2log3

Answer: C

Watch Video Solution

48. Choose the correct Answer of the Following Questions :

 is equal to

A. -2

B. -7/16

∫
4

1
x

−
dx

1
2

https://dl.doubtnut.com/l/_SNDc6OwFMZKy
https://dl.doubtnut.com/l/_gpJyPA0qYGMw


C. 1/2

D. 2

Answer: A

Watch Video Solution

49. Choose the correct Answer of the Following Questions :

 is equal to

A. 0

B. 1/2

C. 2

D. 3/2

∫
π

0

( )dθ =
1

1 + sin θ

https://dl.doubtnut.com/l/_gpJyPA0qYGMw
https://dl.doubtnut.com/l/_hmFQoN22BgJT


Answer: C

Watch Video Solution

50. Choose the correct Answer of the Following Questions :

A. 0

B. 2

C. 8

D. 4

Answer: D

Watch Video Solution

∫
2π

0
√1 + sin( )dx =

x

2

https://dl.doubtnut.com/l/_hmFQoN22BgJT
https://dl.doubtnut.com/l/_x6po0zPWpddE


51. Choose the correct Answer of the Following Questions :

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

dx =

π

2 √cos x

√cos x + √sinx

π

2

π

4

2π

52. Choose the correct Answer of the Following Questions :

∫
0

=

π

2 dx

2 + cos x

https://dl.doubtnut.com/l/_ZRN5oyXUoJyw
https://dl.doubtnut.com/l/_mBCIx2RHE0On


A. 

B. 

C. 1/2

D. 2

Answer: B

Watch Video Solution

tan− 1( )
1

3

1

√3

tan− 1( )
2

3

1

√3

53. Choose the correct Answer of the Following Questions :

A. 1

B. e-1

∫
e

0
logxdx =

https://dl.doubtnut.com/l/_mBCIx2RHE0On
https://dl.doubtnut.com/l/_YvTf3jjgLR0w


C. e+1

D. 0

Answer: A

Watch Video Solution

54. Choose the correct Answer of the Following Questions :

A. 

B. 

C. 

D. 

∫
√3

0

=
dx

1 + x2

π

12

π

6

π

4

π

3

https://dl.doubtnut.com/l/_YvTf3jjgLR0w
https://dl.doubtnut.com/l/_jUBa57Q6QeLR


Answer: A

Watch Video Solution

55. Choose the correct Answer of the Following Questions :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
0

=

π

2 sinxdx

sinx + cos x

π

π

2

π

4

π

6

https://dl.doubtnut.com/l/_jUBa57Q6QeLR
https://dl.doubtnut.com/l/_2ucpXTeZsOvy


56. Choose the correct Answer of the Following Questions :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
0

π

2 dx

1 + tanx

π

π

3

π

2

π

4

57. Choose the correct Answer of the Following Questions :

∫
π

0

dx

a + b cos x

https://dl.doubtnut.com/l/_O4INhGBi77xP
https://dl.doubtnut.com/l/_jhoPlQOVYTwc


A. 

B. 

C. 

D. 0

Answer: C

Watch Video Solution

π

ab

π

a2 + b2

π

a2 − b2

58. Choose the correct Answer of the Following Questions :

 is equal to

A. 

B. 

∫
0

π

2 sinxdx

√1 + cos x

2(√2 + 1)

2(√2 − 1)

https://dl.doubtnut.com/l/_jhoPlQOVYTwc
https://dl.doubtnut.com/l/_Naxrpl2Li6HL


C. 

D. 0

Answer: B

Watch Video Solution

1 − √2

59. Choose the correct Answer of the Following Questions :

 is equal to

A. -2

B. -7/16

C. 1/2

D. 1

∫
∞

0
e

−x
dx

https://dl.doubtnut.com/l/_Naxrpl2Li6HL
https://dl.doubtnut.com/l/_2wVlDmw7jHWM


Answer: D

Watch Video Solution

60. fill in the blanks. =____.

A. 0

B. 1/2

C. 2

D. 3/2

Answer: A

Watch Video Solution

∫
3

2
dx

√x

√5 − x + √x

https://dl.doubtnut.com/l/_2wVlDmw7jHWM
https://dl.doubtnut.com/l/_OxNejHftbt6j
https://dl.doubtnut.com/l/_tktDMzaYxkfu


61. Evaluate each of the following integral: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0

cos2
x dx

( )
π

2

( )
π

4

( )
π

6

Π

62. Choose the correct Answer of the Following Questions :

A. 0

∫
2

0

√4 − x
2
dx =

https://dl.doubtnut.com/l/_tktDMzaYxkfu
https://dl.doubtnut.com/l/_QoYYA6tJQSpr


B. 

C. 

D. 

Answer: C

Watch Video Solution

( )
π

2

π

2π

63. Choose the correct Answer of the Following Questions :

A. 

B. 

C. 

∫
0

− dx =

1
2 1

√1 − x2

( )
π

6

( )
π

3

( )
π

2

https://dl.doubtnut.com/l/_QoYYA6tJQSpr
https://dl.doubtnut.com/l/_nt1yMZneuTqF


D. 

Answer: A

Watch Video Solution

(3 )
π

4

64. Choose the correct Answer of the Following Questions :

A. 1

B. -1/2

C. 0

D. 1/2

Answer: D

∫
0

e
x sinxdx =

π

4

https://dl.doubtnut.com/l/_nt1yMZneuTqF
https://dl.doubtnut.com/l/_HB5aX6MEpRi6


Watch Video Solution

65. Evaluate the following : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

dx
sinx

sinx + cos x

π

π

2

π

3

π

4

https://dl.doubtnut.com/l/_HB5aX6MEpRi6
https://dl.doubtnut.com/l/_u58ZUfYofJ5H


66. Find the Definite Integrals : 

Watch Video Solution

∫
1

0

dx

√4 − x2

67. Find the Definite Integrals : 

Watch Video Solution

∫
0

π

4 sec2 xdx

1 + tan2 x

68. Find the Definite Integrals : 

Watch Video Solution

∫
0

− ( )
e

tan x sec2
xdx

π

4

69. Find the Definite Integrals : ∫
2

1
(1 + logx)

2dx

x

https://dl.doubtnut.com/l/_IQSd1Jtj4Q2V
https://dl.doubtnut.com/l/_lxKol7hPq0GP
https://dl.doubtnut.com/l/_1sCNhAYTow14
https://dl.doubtnut.com/l/_rzivLKfNo1uY


Watch Video Solution

70. Find the Definite Integrals : 

Watch Video Solution

∫
1

0
x

2
e
x
dx

71. Find the Definite Integrals : 

Watch Video Solution

∫
0

sin2
x cos3

xdx

π

2

72. 

Watch Video Solution

∫
0

dx

π

2 cos x
1 + sinx

https://dl.doubtnut.com/l/_rzivLKfNo1uY
https://dl.doubtnut.com/l/_OtgzhWjj9NIk
https://dl.doubtnut.com/l/_1iVgcIbRlJ4L
https://dl.doubtnut.com/l/_0EmVBAClXFIx
https://dl.doubtnut.com/l/_OGAvkfOrzRC1


73. Find the Definite Integrals : 

Watch Video Solution

∫
0

π

2 dx

2 + cos x

74. Find the Definite Integrals : 

Watch Video Solution

∫
0

√1 − sin 2xdx

π

4

75. Find the Definite Integrals : 

Watch Video Solution

∫
1

0

dx
logx

x2

76. Find the Definite Integrals : 

W t h Vid S l ti

∫
0

x sinxdx

π

2

https://dl.doubtnut.com/l/_OGAvkfOrzRC1
https://dl.doubtnut.com/l/_2jd2KBPzns5N
https://dl.doubtnut.com/l/_iOhqfz88d24p
https://dl.doubtnut.com/l/_Lc0bOFaSfjoJ


Watch Video Solution

77. Find the Definite Integrals : 

Watch Video Solution

∫
2

0
x

2
dx

78. Find the Definite Integrals : 

Watch Video Solution

∫
2

0
dx

1

x

79. Find the Definite Integrals : 

Watch Video Solution

∫
1

0

xe
−x

dx

https://dl.doubtnut.com/l/_Lc0bOFaSfjoJ
https://dl.doubtnut.com/l/_GDYBe448aW1N
https://dl.doubtnut.com/l/_cauo4dF9fa97
https://dl.doubtnut.com/l/_rY1ccFttyaWQ


80. Find the Definite Integrals : 

Watch Video Solution

∫
1

0
dx

1

(x + 1)(x + 2)

81. 

Watch Video Solution

∫
2

1
dx

x

(x + 1)(x + 2)

82. Find the Definite Integrals : 

Watch Video Solution

∫
2

1

e
x( )dx

x − 1

x2

83.  dx∫
1

0

√
1 − x

1 + x

https://dl.doubtnut.com/l/_exPpHAy8GL70
https://dl.doubtnut.com/l/_AfMJIz2M2Jqs
https://dl.doubtnut.com/l/_bTxr9jL7GYIe
https://dl.doubtnut.com/l/_pa6S1MJDzAjC


Watch Video Solution

84. Find the Definite Integrals : 

Watch Video Solution

∫
1

0
x

2
e
x3
dx

85. Evaluate the following integral: 

Watch Video Solution

∫
1

0
dx

tan− 1 x

1 + x2

86. 

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

https://dl.doubtnut.com/l/_pa6S1MJDzAjC
https://dl.doubtnut.com/l/_dd6FfEEsA8Rm
https://dl.doubtnut.com/l/_5qC755nqQ8oz
https://dl.doubtnut.com/l/_ibiwTcpoemkd
https://dl.doubtnut.com/l/_c9XOyzS3GAuP


87. Using the properties of definite integral Evaluate :

Watch Video Solution

∫
0

dx

π

2 sinx

sinx + cos x

88. Using the properties of definite integral Evaluate :

Watch Video Solution

∫ dx

π

3

π

6

1

1 + √tanx

89. Using the properties of definite integral Evaluate :

Watch Video Solution

∫
π

0
dx

x

1 + sinx

https://dl.doubtnut.com/l/_c9XOyzS3GAuP
https://dl.doubtnut.com/l/_H4WsgpTUzBBV
https://dl.doubtnut.com/l/_qLImTcq23JqT


90. By using the properties of definite
 integrals, evaluate

the integrals


Watch Video Solution

∫0 log(1 + tanx)dx
π

4

91. Using the properties of definite integral Evaluate :

Watch Video Solution

∫
3

0
x√3 − xdx

92. By using the properties of definite
 integrals, evaluate

the integrals


Watch Video Solution

∫0a dx
√x

√x + √a − x

https://dl.doubtnut.com/l/_xkXW2QYYv0GN
https://dl.doubtnut.com/l/_thmzc8EW0eSf
https://dl.doubtnut.com/l/_A1phXkoVMKfr


93. By using the properties of definite
 integrals, evaluate

the integrals


Watch Video Solution

∫0π log(1 + cos x)dx

94. Evaluate 

Watch Video Solution

∫
0

dx

π

2 sinx − cos x

1 + sinx cos x

95. Using the properties of definite integral Evaluate :

View Text Solution

∫
π

0

dx
x tanx

1 + sinx

https://dl.doubtnut.com/l/_snuxsyaLZkCF
https://dl.doubtnut.com/l/_PrF1wf0ERPrB
https://dl.doubtnut.com/l/_zMnklzOqbZTU
https://dl.doubtnut.com/l/_aCpj7ooLzKpc


96. Evaluate : 

Watch Video Solution

∫
π

0
dx

x sinx

1 + sinx

97. Evaluate 

Watch Video Solution

lim
n→ ∞

[ + + + … + ]
1

n

1

n + 1

1

n + 2

1

3n

98. 

Watch Video Solution

lim
n→ ∞

1 + 24 + 34 + ... + n4

n5

99.  is

equal to

lim
n→ ∞

[ + + + ... + ]
1

n

n2

(n + 1)
3

n2

(n + 2)
3

1

8n

https://dl.doubtnut.com/l/_aCpj7ooLzKpc
https://dl.doubtnut.com/l/_uIiZRaq8wqdu
https://dl.doubtnut.com/l/_wngTPsc57fi3
https://dl.doubtnut.com/l/_B8O1eI59J0cF


Watch Video Solution

100. Evaluate

View Text Solution

lim
n→ ∞

n[ + + + … + ]
12

n3 + 13

22

n3 + 23

32

n3 + 33

n2

n3 + n3

https://dl.doubtnut.com/l/_B8O1eI59J0cF
https://dl.doubtnut.com/l/_CMHoHpRJ0q5H

